ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X <20 2) Which option best shows X > -5
18 19 20 21 22 8 -7 -6 -5 -4 -3 -2 L
A. A. €ttt O——1—>
18 19 20 21 22 -8 -7 6 -5 4 -3 -2 2.
B. <+——ti—=@——1» B. ¢—t——i—@———>
18 19 20 21 22 -8 -7 -6 -5 -4 -3 -2 3
C. C. '
18 19 20 21 22 -8 -7 -6 -5 -4 -3 -2
D. LA ety 4,
5.
3) Which option best shows X < -8 4) Which option best shows X > 6
10 9 -8 -7 -6 4 5 6 7 8 6.
A 4+——t—0O0—F— A.
10 -9 -8 -7 -6 4 5 6 7 8 7
B. 4+———@—1+— B. 4+———@—1+—
-10 -9 -8 -7 -6 4 5 6 7 8
C. +—F—O0—+—h C. ¢—F——O0—t+—H 8.
-10 -9 -8 -7 -6 4 5 6 7 8
D. +—F—@—F+— D. +—F—@—F+—
5) Which option best shows X > -1 6) Which option best shows X < 6
3 -2 -1 0 1 2 4 5 6 7 8 9
A. A. ¢——at—-sQO—F———b
3 -2 -1 0 1 2 4 5 6 7 8 9
B. B. ¢+—at—= ——~F—
3 -2 -1 0 1 2 4 5 6 7 8 9
C. C. 4+—F+—O0—+—+—
3 -2 -1 0 1 2 4 5 6 7 8 9
D. D. 4—F+—@—+—"+—
7) Which option best shows X <9 8) Which option best shows X < -11
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
A ¢——t—0O—F+—F— A. ¢——t——t—O—1—1>
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
B. B. ¢+——t—"—@—+—
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
C. C. ¢—F+—F+—O0—+—
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
D. 4+——@—+—t+—> D. +—"F—"1T—"@—+—
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Matching Inequalities to Numberlines Name:

Answer Key

Solve each problem. Answers
1) Which option best shows X <20 2) Which option best shows X > -5
18 19 20 21 22 -8 -7 6 -5 4 -3 -2 1 L
A. ¢+——t——O—F— A ¢—t—+—0—"1F—"1—"
18 19 20 21 22 8 -7 6 -5 -4 -3 -2 2. D
B. ¢+—t—@—F— B.
18 19 20 21 22 -8 -7 6 -5 4 -3 -2 3 B
C. C. '
18 19 20 21 22 -8 -7 6 -5 4 -3 -2
D. +——+—0——h D. ¢———@—t—t—> a D
5. C
3) Which option best shows X < -8 4) Which option best shows X > 6
10 9 8 -7 -6 4 5 6 7 8 6. B
A. ¢——t——-OQ—F— A.
-10 -9 -8 -7 -6 4 5 6 7 8 7 A
B. 4+———@—1+— B. 4+———@—1+—
-10 -9 -8 -7 -6 4 5 6 7 8 B
C. +—F—O0—+—h C. ¢—F——O0—t+—H 8
-10 -9 -8 -7 -6 4 5 6 7 8
D. +—F—@—F+— D. +—F—@—F+—
5) Which option best shows X > -1 6) Which option best shows X < 6
3 -2 -1 0 1 2 4 5 6 7 8 9
A. A 4+—t—O0——F+—"F—b
3 -2 -1 0 1 2 4 5 6 7 8 9
B. B. ¢—F+—@—F—F—bh
3 -2 -1 0 1 2 4 5 6 7 8 9
C. C. ¢+——F—"O0—t——>
3 -2 -1 0 1 2 4 5 6 7 8 9
D. D. 4+—F—@—+—+—>
7) Which option best shows X <9 8) Which option best shows X < -11
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
A 4—t—O0—F+——"F—1 A. ¢——t——t—O—1—1>
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
B. B. ¢+——t—"—@—+—
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
C. C. +—F1—F+—O—t—1ip
7 8 9 10 11 12 -14 -13 -12 -11 -10 -9
D. 4+——@—+—t+—> D. ¢—F—F—@—t—t>
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